(RN
<

) =
g S |
= =
= 3
S
o L
g S 10k
i
1072k
107k
o10:2 o103
=1 =
S 11T © 1.05f-
= )
M-
0.9HN1- 0.95H- -
0.8 0.9 L . : ; :
=3 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)
[—=— DQM original_StepZ_Tbar-phasel-Newgeom
—e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
—— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom
—+— DOM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
IS IS
S A
> ;N
o]
o 107! o
o [s]

: W il
3 -2 -1 0 1 2 3 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

23 -2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


